ENERPAC

Workholding Service Parts

Part Part Part Part Part  Part
Type Number Description Type Number Description Type  Number Description
NUMERIC WH 401809 External Snap Ring WH 402322 Spring, Compression
WH  230Z10 Spring Lock Washer WH 401810 Fulcrum Pin WH 402335 Plug
WH  023A108 Spring Lock Washer WH 401811 Clamp Plunger WH 402337 Hex Plug
WH 300109 0-Ring WH 401814 Swivel Fulcrum WH 402341 Piston
WH 300903 0-Ring WH 401815 Retaining Ring WH 402362 End Fitting
WH 320218 0-Ring, Metric WH 401816 Plunger WH 402363 Strap
WH 401226 Plunger Spring WH 4018323 Air Cylinder WH 402364 Plunger
WH 401227 Spring, Compression WH 401835 Spring WH 402365 Housing
WH 401229 Spring, Compression WH 401836 Piston Rod WH 402367 Ball .300” Dia.
WH 401230 Spring, Return WH 401837 Piston WH 402390 0-Ring Boss Plug
WH 401234 Cap Nut WH 401838 Retaining Ring WH 402391 Bearing Cap
WH 401238 Spring, Arm WH 401841 Spring, Torsion WH 402393 Spring
WH 401253 Seal WH 401887 Spring WH 402395 Rotary Cam
WH 401254 Gasket WH 401888 Spring WH 402398 Lever Arm
WH 401265 Spring Int WH 401889 Spring, Inner WH 403032 Cup Seal
WH 401266 Spring Ext WH 401902 Screw Bushing WH 403033 Cup Seal
WH 401268 Pin, Valve WH 401925 Retaining Ring WH 403035 Cup Seal
WH 401277 Spring Lock Washer WH 401927 Reservoir WH 403046 Plug, End
WH 401278 Spring, Torsion WH 401929 Clamping Arm WH 403054 Plug
WH 401286 Guide, Plunger WH 401931 Clamping Arm WH 4030481 Piston
WH 401287 Spring WH 401938 Retaining Tube WH 4030483 Piston
WH 401288 Spring Washer WH 401941 Handle WH 4030491 Body
WH 401290 Hex Head Cap Screw WH 401942 Handle Boss WH 4030493 Body
WH 401389 Plunger Housing WH 401943 Cylinder WH 403050 Spring
WH 401465 Inlet Bushing WH 401953 Cylinder Body WH 403055 Plunger
WH 401472 Spring, Torsion WH 402016 Plunger WH 403056 Clamping Arm
WH 401476 Cover WH 402026 Plunger WH 406067 Cylinder
WH 401481 Retaining Ring WH 402030 Ring, Retaining WH 4060711 Piston
WH 401483 Washer WH 402043 Rod Wiper WH 4060712 Piston
WH 401485 Set Screw WH 402044 Seal WH 406072 Cap, Cylinder Head
WH 401499 Retaining Ring WH 402054 Bushing WH 406073 Piston
WH 401503 Retaining Ring WH 402055 Seat WH 406074 Cap, Cylinder Head
WH 401506 Cover WH 402056 Seal WH  410Z110G7  0-Ring
WH 401507 Fulcrum Pin WH 402058 Seal WH  430106W Check Valve Assy
WH 4015121 Bolt WH 402059 Piston WH  430141W Reservoir Assy
WH 4015122 Bolt WH 402065 Cup Seal WH 4301422 Plunger Rod
WH 401513 Set Screw WH 402069 Cup Seal WH  430Z045GB  Back-Up Washer
WH 401519 Swivel Fulcrum WH 402070 Cup Seal TWH  447-2217 Induction Eccentric Kit
WH 401532 Gasket WH 402082 Handle Knob WH 503625 Spring
WH 401568 Spring, Torsion WH 402232 Washer WH 7111113 Set Screw, Patch
WH 401620 Compression Spring WH 4022372 Plunger WH 402368 Washer, Lock
WH 401667 Clamp Assy WH 402276 Gasket TWH 401712 Spring Plug
WH 401739 Spring WH 402307 Plunger A
WH 401804 Clamp Plunger WH 402308 Clamping Arm [TWH  A1007245 1/8” Flush Plug
WH 401807 Plunger WH 402321 Spring, Compression [TMWH  A1008245 1/4” Flush Plug, w/ Sealant



Part Part Part  Part Part Part

Type Number Description Type  Number Description Type Number Description

ITWH A1010245 Pipe Plug, 1/2 WH B1137803 0-Ring WH  BSS6820D Wiper

ITWH A8001018SR Inlet Screen WH B1206513 GT Ring H

WH A8001271 Thread Protector WH B1208203 0 Ring WH  C428120 Hex Nut

ITAWH A8006048 Orifice Screw ITWH B1208503 0 Ring WH  C849030 Cylinder

WH A8015108 Washer, Air Spring WH B1208513 GT Ring WH  CA420281 Needle Roller

WH A8015108SR  Service Kit WH B1210513 Seal Gt Piston 1” 0d WH  CA521041 U Cup

ITWH A8027041 U-Cup WH B1213513 GT Ring Assy WH  CA535044 Wiper

WH A8032110 Spring-Comp Coil=8 13 Lbs/In WH B1214513 GT Ring WH  CA639041 U-Cup

ITWH A8048018 Breather WH B1214515 GT Ring, Viton WH  CA659025 Reservoir

ITWH A8069006 Pipe Plug ITWH B1214564 Back Up [TWH  CA683900SR Guard Assy

WH A8088096 Fitting WH B1217515 Gt Ring Viton WH  CAA417061-2A  Pin

WH A8089096 Air Fitting Elbow ITWH B1219803 0-Ring WH  CAA425061-2A  Dowel Pin

WH ACBS22K Kit, Accumulator WH B1221515 Seal Gt Piston Viiton 1 11/16” Od WH  CAA429061-2A  Dowel Pin

WH ACL201AK Repair Kit WH B1225903 0-Ring WH  CAA841061-2B  Pin

WH AHB17K Repair Kit ITWH B1227503 0 Ring 70 [TWH  CB185040 Plunger

WH AHB17KV Repair Kit, Viton WH B1252503 0-Ring WH  CB514030 Cylinder

WH AHB34K Repair Kit ITWH B1257503 0-Ring WH  CB57040 Plunger

WH AHB34KV Repair Kit WH B1317028 Screw, Shc 10-24 X 2.75 In WH  CB5K Repair Kit

WH AHB46K Repair Kit ITWH B1322028 Cap Screw [TWH  CB718026 Decal

WH AHB66K Repair Kit ITWH B1327028 Screw WH CB82110 Spring

WH AP502K Repair Kit ITWH B1327513 Seal Gt Pi WH  CBA411028-1A  HSRH Screw, 4mm

WH AP502KV Repair Kit, Viton WH B1327515 Seal Gt Piston Viton 2 1/8” Od WH  CBA411028-1E  HSRH Screw

WH ASC100K Repair Kit TWH B1331028 Bolt WH  CBA413028-1E  Button Head Cap Screw

WH ASC30K Repair Kit ITWH B1333515 GT Ring, Viton WH  CBA515028-1D M5 - 1 X 10 mm Reduced
B ITWH B1345028 Screw WH  CBA615028-1A  Screw, M6 x 10mm SHCS

WH B1001006 Plug Sae #2 Buna WH B1348028 Cap Screw ITWH CBA625028-1B  Screw Hex Socket M6 X 30

WH B1003006 #4 SAE Hex [TWH B1353028 .313-18 Unc Shes X 1.5Lg [TWH CBA819028-1E  Screw

WH B1003006V  #4 SAE Plug, Viton WH B1618K2 Repair Kit ITWH  CBB1025046-1B Screw

WH B1004006 Plug WH B171K Repair Kit [TWH CBE1027028-1A Shcs M10X3

WH B1004006V  Plug, SAE, Viton ITWH B1904303 Oring Epr [TWH CBE1047028-1A SHCS M10x 1.5x 100 8.8 Zinc

IT/WH B1006006 #8 SAE Hex Plug WH  B203050K Kit, Universal Booster WH  CBE1050120-1D Hex Nut

ITWH B1006803 0-Ring WH B3304K3 Repair Kit [TWH CBE1080120-2A M8 Lock Nut

ITWH B1007006 Plug Socket, SAE #10 WH BA0212059 Dowel Pin WH  CBE1120120-2A Nut

ITWH B1008803 0-Ring WH BA0216059 Dowel Pin TWH CBE323028-1A M3X.5X25

ITWH B1008903 0-Ring WH BA0416059 Dowel Pin [TWH CBE419028-1A M4.0X 16

[TWH B1009803 0 Ring (.2 WH BC10K Seal Kit ITWH CBE619028-1A  Screw, M6-1x 16 SHCS

ITWH B1010203 0-Ring [TWH BC1310728  Screw #6-3 [TWH CBE621028-1A  Shcs M6X20 Zinc

ITWH B1013203 0 Ring Viton WH BC18K Seal Kit [TWH CBE817028-1E  Bhcs M8X12

ITWH B1013503 0 Ring WH BC1920628 Cap Screw [TWH CBE819028-1E  Bhcs M8X16

WH B1014803 0-Ring ITWH BC2506027K Set Screw .250-20 X .38 [TWH CBE823046-1B  Hex Bolt (Atlas)

WH B1016028 Shc Screw ITWH BC2512027FX Set Screw [TWH CBE825028-1A  Shcs M8X30 Zinc

WH B1016517 Square Ring WH BC280K Seal Kit [TWH CBE831028-1A  Bolt, M8X45

WH B1017403 0-Ring WH BC3806027D Set Screw [TWH CBE837028-1A  Shcs, M8 X 60

ITWH B1018203 0 Ring WH BC40K Seal Kit [TWH CBE843028-1A  Shcs M8 X

WH B1020123 Jam Nut WH  BC40KV Seal Kit-Viton WH  CBF6K Repair Kit

ITWH B1020564 B/U Washer, Teflon WH BC70K Seal Kit WH  CBM6K Repair Kit

WH B1020803 0-Ring WH BD10162K  Repair Kit WH CC3K Kit

[TWH B1020903 0-Ring WH BD180252K  Repair Kit WH  CCA1024028-1A M10 X 30 mm SHCS

ITWH B1022028 Screw WH BD18202K  Repair Kit WH  CCA1025028-1A M10 X 30 mm SHCS

ITWH B1022028X  Shcs, .250 WH BD40252K  Repair Kit WH  CCA1027044-1A Retaining Ring

ITWH B1024203 0 Ring-Viton WH BD70252K  Repair Kit WH  CCA1050044-2A E-Clip, 5mm

WH B1025203 0-Ring, Viton ITWH BF3828027A Set Screw WH  CCA1072044-1A Retaining Ring

WH B1025803 0-Ring WH BSS2989D Index Rod, Right Hand ITWH CCA1080044-2A Retaining Ring

WH B1028203 0-Ring WH BSS3002D  Index Rod, Left Hand WH  CCA1120110-1A Spring

ITWH B1037057 Spring Pin WH BSS3898D  End Plate WH  CCA1180110-1A Spring

WH B1040503 0-Ring WH BSS3901D  Index Rod WH  CCA1220110-1A Spring

ITWH B1052271 Thread Protector WH BSS3902D  Index Rod WH  CCA1228028-1A Screw

ITAWH B1055057 Spring Pin WH BSS3907D  Plunger Assy WH  CCA1632028-1A Socket Screw

WH B1057057 Spring Pin WH BSS3910D  PolyPac Seal WH  CCA311028-1A  Plug Bolt

WH B1094503 0-Ring WH BSS4236D  Spring Washer WH  CCA319028-1A  Cap Screw

ITWH B1096057 Pin WH BSS4292D  Plunger WH  CCA405028-5A  Set Screw, M4

WH B1110203 Viton O Ring WH BSS4294D  Stop Ring WH  CCA411028-1A  SHC Screw

ITWH B1111203 0-Ring, Viton WH BSS4453D  Plunger Assy WH  CCA419028-1A  HSHC Screw

WH B1111903 0-Ring, Buna WH BSS4881D  Index Rod, Right [TWH CCA421028-1A  HSHC Screw

WH B1115803 0 Ring ITWH BSS5409D  Plug WH  CCA421057-1A  Spring Pin

WH B1120203 0-Ring Viton WH BSS5621D  Index Rod, Left WH  CCA423057-1A  Spring Pin

ITWH B1123203 0 Ring WH BSS5622D  Plunger WH  CCA519028-1A  Bolt, M5

WH B1123803 0-Ring WH BSS5756D  Spring ITWH CCA521028-1A  HSHC Screw

ITWH B1129903 0-Ring WH BSS6509D  Bearing [TWH CCA619028-1A  Shcs (M6X16Mmlg.)



Part Part Part  Part Part Part

Type Number Description Type  Number Description Type Number Description
WH CCA623028-1A Mounting Bolt WH  CS732041 U-Cup WH CV480040 Plunger
WH CCA625028-1A SHCS M6 X 1.0 X 30 WH  CSB10K Seal Kit, S/A Block WH CV486040 Plunger
ITWH CCA627028-1A M6 X 35Lg Hshc WH  CSB10K1 Seal Kit,S/A Block Cyl 10Kn WH CV491900 Plunger Assy
WH  CCA820028-1A SHC Screw WH  CSB18K Seal Kit, S/A Block WH CV625006 Plug
WH  CCA823028-1A  Shc Screw (M8-1,25X25) WH  CSB18K1 Seal Kit,S/A Block Cyl 18Kn WH CV753900 Plunger (Mpfl/R300)
WH CCA825028-1A  Screw Shc, M8X1.25-30Mm Lg. WH  CSB40K Seal Kit, S/A Block WH CV755149 Index Rod
WH  CCA827028-1A  SHC Screw, Service WH  CSB40K1 Seal Kit,S/A Block Cyl 40Kn WH CV756149 Index Rod
WH  CCA831057-1A  Spring Pin WH  CSB70K Seal Kit, S/A Block WH CV773044 Stop Ring
WH  CCA833028-1A  Shc Screw M8 X 50 WH  CSB70K1 Seal Kit,S/A Block Cyl 70Kn WH CV810096 Nipple
[TWH CCE1060108-6A Lock Washer WH  CSM18KV Seal Kit, Metric, 18kN, Viton WH CVv839271 Thread Protector
[TWH CCE643028-1A  SHCS M6 x 1 x 80 WH  CSM27K3 Seal Kit WH CV853271 Shipping Plug
WH CDB10K Seal Kit, D/A Block WH  CSM5K4 Seal Kit, for 5kN WH CV939040 Plunger
WH  CDB10K1 Seal Kit,D/A Block Cyl 10Kn WH  CST10K1 Seal Kit WH CVv940101 Coupler Plate
WH  CDB180K Seal Kit, D/A Block WH  CST18K1 Seal Kit WH CV943040 Plunger
WH CDB180K1 Seal Kit,D/A Block Cyl 180Kn WH  CST2K1 Seal Kit WH CV960900 Plunger Assy
WH CDB18K Seal Kit, D/A Block WH  CST40K Seal Kit, for 40kN WH CV963039 Sensor Bushing
WH  CDB18K1 Seal Kit,D/A Block Cyl 18Kn WH  CST9K1 Seal Kit WH CV965149 Guide Rod
WH CDB280K Seal Kit, D/A Block WH  CST9KV Seal Kit 9 Kn Cst Viton WH CV982190 Manifold
WH  CDB280K1 Seal Kit,D/A Block Cyl 280Kn WH  CT1950SR Spring Set TWH ~ CW112290 Valve Seat
WH  CDB40K Seal Kit, D/A Block WH  CT2013 Spring Guide TWH ~ CW113051 Piston
WH  CDB40K1 Seal Kit,D/A Block Cyl 40Kn WH  CT2950SR Spring Set TWH ~ CW114013 Spring Gui
WH  CDB70K Seal Kit, D/A Block WH  CT387041 U-Cup TWH ~ CW116028 Adjustment
WH  CDB70K1 Seal Kit,D/A Block Cyl 70Kn WH  CT388041 U-Cup TWH ~ CW117020 Valve End
WH  CDF6K Repair Kit WH  CT390044 Support Ring WH CW120020 Dust Cap
WH  CDM6K Repair Kit WH  CT392900 Air Piston Assy TWH ~ CW143028 Screw
WH  CDT18K1 Seal Kit, for 18kN D/A WH  CT3950SR Spring Set TWH ~ CW173028 Screw, BK2
WH CDT27K1 Seal Kit, for 27kN D/A WH  CT396900 Air Cylinder Assy TWH ~ CW174028 Screw, BK3
WH  CDT40K Seal Kit, for 40kN D/A WH  CT398028 Small Hex Head TWH ~ CW24044 Ring
WH  CDT40K1 Seal Kit 4 WH  CT400055 Cap Nut TWH ~ CW328026 Air Vent Decal
WH  CF345044 Retaining Ring WH  CT402028 Small Hex Head Bolt WH CW396096 Fitting
WH  CF379041 U-Cup WH  CT403110 Spring, Compression WH CW9167 Gasket, Copper
WH  CF380041 U-Cup WH  CT404900 Magnet Holder Assy WH CY119038 Adaptor
[TWH  CH272026 Caution Decal WH  CT405885 Core WH CY123101 End Plate
[TWH  CH538950SR Disc Asm.Repl.Kit WH  CT406110 Spring WH CY125125K Repair Kit
[TWH  CH943096 Reducer WH  CT407108 Lock Washer WH CY125425K Repair Kit
WH  CJ289041 U-Cup WH  CT408900 Switch Case Assy WH CY165041 0-Ring
WH  CJ303041 U-Cup WH  CT410051 Piston WH CY21265K Repair Kit
[TWH  CL780040 9 Ton Plunger WH  CT411051 Piston WH CY2127K Repair Kit
WH  CL931101 End Plate WH  CT413290 Valve Seat WH CY2129K Repair Kit
WH  CL937040 Plunger WH  CT415061 Piston Pin WH CY27515K Repair Kit
WH CM139167 Gasket WH  CT416061 Piston Pin WH CY27545K Repair Kit
WH  CM458041 Channel Seal WH  CT419044 Ring WH CY350019K Repair Kit
WH  CM57026 Caution Decal 1.71 X .91 WH  CT420110 Ring TWH  CY485110 Spring
WH  CM58030 Cylinder WH  CT432040 0il Cyl WH CY628K Repair Kit
WH  CM59041 PolyPac WH  CT433040 Qil Cyl WH CY878K Repair Kit
WH  CM861044 Wiper WH  CT435167 Gasket WH CY944040 Plunger, Hcs110
WH  CN384446 Sleeve Protector WH  CT438900 Reservoir Asm WH CY945044 Stop Ring
WH  CR112K Kit, Rotary Coupler WH  CT439900 Reservoir Assy WH CY946110 Spring
[TWH CR126190 Body Locki WH  CT444020 End Cap WH CY947110 Spring
[TWH  CR352110 Die Spring WH  CT447007 Strainer ITWH ~ CYA1370041-1A  Multi Seal
[TWH  CR517101 Spring Plate WH  CT48950SR  Spring Set WH CYA310041-1A Multi Seal
[TWH  CR607900SR Tube Asm Kit WH  CT5040 Plunger WH CYA450041-1A Multi Seal
ITWH  CR610900SR Adaptor Kit WH  CU203040 Plunger-Hc Plate WH CYDA15K Repair Kit
[TWH  CR908038 Valve Manifold WH  CU205110 Pull Spring WH CZ135040 Plunger, Hcs20
[TWH  CR909038 Valve Manifold WH  CU206110 Pull Spring WH CZ295110 Spring
[TWH  CR910038 Valve Manifold WH  CU207225 Spring Retainer WH CZ297041 Wiper
WH  CR912061 Grooved Pin WH  CU208225 Spring Retainer WH CZ298041 Wiper
WH  CR920040 Plunger WH  CU209028 Set Screw WH CZ299041 Step Seal
WH  CR921040 Plunger WH  CU544028 Button Head Capscrew WH CZ300041 Glydring
WH  CRV222K Kit, Rotary Coupler WH  CU765026 Warning Decal WH CZ302040 Plunger, 35 kN, D/A
WH  CRV442K Kit, Rotary Coupler [TWH  CU794017 Spring Clip WH CZ303044 End Plate
WH  €S235006 Plug, .250-19” BSPP [TWH  CU876028 Screw (10- WH CZ304149 Index Rod, Left, 20 kN
WH CS236006 Plug G1/8 WH  CU892110 Spring, Compression WH CZ308061 Needle
WH  CS240044 Ring [TWH  CU978026 Submerged WH CZ309110 Spring
WH  €S243108 Wedge Ring WH  CV367149 Index Rod, Left WH CZ310044 Snap Ring
WH  CS244047 Wedge WH  Cv368149 Index Rod, Right WH CZ315040 Plunger, 35 kN, S/A
WH  €S253041 Double Delta Seal WH  CV372900SR Plunger Assembly For Mpfl50 WH CZ316020 Plunger Cap
WH  €S263047 Wedge WH  Cv477110 Spring Disc WH CZ318004 Flange 35K
WH CS264108 Wedge Ring WH  Cv478110 Spring Disc WH CZ322107 Bearing
WH  ©S329040 Plunger WH  Cv479110 Spring Disc WH CZ323108 Bearing Washer

3



Part Part Part Part Part Part

Type Number Description Type Number Description Type Number Description

WH  Cz324071 Nylon Disc WH Cz881110 Spring WH DA9747190 Valve Body

WH  CZ325225 Insert WH €z883039 Spacer Bush ITWH DA9788098 Cover

WH  CZ326149 Index Rod, Right, 20 kN WH CZ89045 Spherical [TWH DC10008960SR Power Cord 220V Rep Kit

WH  CZ327149 Index Rod, Straight, 20 kN WH CZ910110 Spring WH DC1113013  Spring Guide Wsl221,222

WH  CZ330041 Stepseal Viton D WH DC1134118 Breather Vent

WH  CZ332040 Plunger, 20 kN, D/A [TWH DA1011096  Elbow WH DC115030  Hydraulic Cylinder, Turbo, 5K PSI
WH  CZ333044 End Plate ITWH DA1034095  Fitting WH DC1152044 Stop Ring

WH  CZ334110 Spring ITWH DA10722108 Washer WH DC150038  Adaptor

WH  CZ337041 Glydring WH DA10973013  Ball Guide WH DC151101  Coupler Plate

WH  CZ338061 Needle WH DA11146040 Plunger, 12 kN, Long Stroke WH DC153040  Plunger

WH  CZ339110 Spring WH DA11231149  Index Rod, Left, 35 kN WH DC174044  Wiper

WH  CZ340044 Snap Ring WH DA11232040 Plunger, 35 kN, Long Stroke WH DC1948051 Piston

WH  CZ345040 Plunger, 20 kN, S/A ITWH DA11539380 Receptacle [TWH DC2038028 BHSCS

WH  CZ346020 Plunger Cap WH DA11609141  Glyd Ring 18Kn [TWH DC2182099  Air Motor Fitting

WH  CZ353225 Insert WH DA11610141  Glyd Ring 40Kn ITWH DC2200900SR Air Motor Assy

WH  CZ356041 Glyd Ring ITWH DA11720037  Reservoir Gasket WH DC2220900K Pump Kit, 3 Ksi

WH  CZ358041 Wiper ITWH DA11730101 Plate WH DC2221900K Pump Kit, 5 Ksi

WH  CZ362040 Plunger 9Kn Da WH DA11905040 35Kn Plunger ITWH DC2234051SR Shuttle Piston Assy

WH  CZ363044 End-Plate WH DA12022040 U.Flange Base-12Kn L.Stroke/Me [TAWH DC2234900SR Air Motor Seal Kit

WH  CZ364149 Index Rod, 9 kN, Left WH DA12026149 Index Rod, Right ITWH DC2269096 Male Conne

WH  CZ368061 Needle ITWH DA12049900-ASR Relief Valve [TWH DC2669127  Twister Wire Nut

WH  CZ369110 Spring WH DA12146776  Wiper, Viton WH DC270110  Spring

WH  CZ370044 Snap Ring WH DA12192118 Filter Breather ITWH DC2778378 Fuse 0.25A BBS

WH  CZ373030 Base 9Kn Uf WH DA1222041 U-Cup, Symmetrical ITWH DC2862900SR Pressure Switch Cord Service Kit
WH  CZ375040 Plunger, 9 kN, S/A [TWH DA12263270 Connector, Box Receptacle WH DC3059900SR Repair Kit

WH  CZ382107 Bearing [TWH DA1235095 Street Elbow 45 Deg [TWH DC3076118 25 Micron Filter

WH  CZ383108 Bearing Washer WH DA12358446 Nylon Sleeve [TWH DC3077900 Filter, Head, Gauge

WH  Cz385110 Spring Disc WH DA12359446 Bronze Sleeve [TWH DC3144900SR Cord Assy Kit

WH  CZ386108 Washer WH DA12360040 Plunger [TWH DC3224470 Heat Excha

WH  CZ387020 Plunger Cap WH DA12361020 Cap [TWH DC352118  Breather Vent

WH  Cz388149 Index Rod, 9 kN, Right WH DA12365044 Stop Ring [TWH DC3574097 “Y” Female

WH  CZ389149 Index Rod, 9 kN, Straight WH DA12426040 Plunger [TWH DC3577379 Push Button, Green

WH  CZ391041 0-Ring WH DA12428020 Cap, Hydraulic Adv. [TWH DC3578379  Push Butto

WH  CZ392041 0-Ring WH DA12429446 Plastic Jacket [TWH DC3938096 Elbow

WH  Cz401028 Set Screw WH DA12430447 Bronze Sleeve [TWH DC4322900SR Reservoir Assy Kit

WH  Cz402108 Spring Guide TWH DA2181720  Solenoid V ITWH DC433950  Plug Assy

WH  CZ422061 Grooved Pi [TWH DA2462092  Conversion Adaptor [TWH DC4399097  Fitting El

WH  CZ423041 0-Ring ITWH DA2588026  Thermal Re WH DC4440 Poppet

WH  CZ425020 End Cap (Front) ITWH DA2952017  Spring Clip WH DC4574040 Plunger, 2kN, 10mm

WH  CZ426040 Plunger ITWH DA3012028  Flat Hd So ITWH DC461028  Cap Screw

WH  Cz427040 Plunger ITWH DA3698290 Seat Spacer WH DC4625040 Plunger 5Kn 13Mm Stroke Imperial
WH  CZ428040 Plunger WH DA4390118 Filter WH DC4662040 Plunger 10Kn 38Mm Stroke Metric
WH  CZ429040 Plunger ITWH DA4393190  Valve Block WH DC4664040 Plunger 9Kn 7Mm Stroke Imperial
WH  CZ434001 Booster Cylinder [TWH DA4404900 Solenoid Assy WH DC4665040 Plunger 9Kn 13Mm Stroke Imperial
WH  CZ435001 Booster Cylinder [TWH DA4405900  Solenoid Assy WH DC4668040 Plunger, 9Kn 38Mm Stroke Imperial
WH  CZ436030 Booster Cylinder [TWH DA4782045  Saddle W/N WH DC4674044  Stop Ring

WH  Cz437108 Washer ITWH DA4994028  Set Screw WH DC4713110  Spring

WH  Cz442044 Ring ITWH DA4995006  Adj.Plug WH DC4721044 Stop Ring, 40Kn

WH  CZ447020 End Cap, Rear WH DA5053900  Tube WH DC4722044 Stop Ring, 18Kn

WH  CZ449044 Ring WH DA5055040 30T Plunger [TWH DC473051 Piston, Pneumatic Dump

WH  CZ549110 Spring WH DA506040 Plunger 20 Ton WH DC4743040 Plunger 18Kn 38Mm Stroke Imperial
WH  Cz690110 Spring WH DA5100210  Conical Spring WH DC4750040 Plunger S/A 40 Kn Imperial

WH  Cz697110 Spring WH DA5101026  MHV-1 Decal WH DC4824040 Plunger

WH  CZ71108 Spring Guide ITWH DA5351476  Step Seal WH DC4852040 Plunger 27Kn 25Mm Stroke Metric
WH  CZ716110 Spring ITWH DA5421009  Valve Plug [TWH DC4877025 2 Gal Rese

WH  CZ720110 Spring WH DA5768041 U-Cup WH DC496108  Rubber Washer

WH  CZ72108 Spring Guide WH DA5953326  Caution Tag [TWH DC5095110 Die Spring

WH  CZ765040 Plunger [TWH DA5976108  Rubber Washer ITWH DC5132290 Seat

WH  CZ767040 Plunger WH DA6144662 Flow Control Valve [TWH DC5142660SR Spool Valve, 24V

WH  CZ781110 Spring WH DA6441110  Spring, Compression [TWH DC5181160  Retainer, for VM32

WH  CZ784110 Spring WH DA6445110 Spring, Compression [TWH DC5212900K Repair Kit, for PAMG

WH  CZ794110 Spring WH DA6446040  Plunger ITWH DC522190  Mounting P

WH  CZ798110 Spring WH DA6463051 Piston WH DC5276110  Spring, Compression

WH  CZ801110 Spring WH DA6464186  Spacer WH DC5300061 Short Pin, 3kN

WH  Cz817040 Plunger WH DA6466030  Cylinder WH DC5301061 Long Pin, 3kN

WH  CZ819040 Plunger WH DA7309628  Button Head Cap Screw WH DC5302062 Link 3Kn

WH  CZ821040 Plunger WH DA7962041 U-Cup WH DC5309062 Link 12Kn

WH  Cz842110 Spring ITWH DA9269476  Step Seal WH DC5311062 Link 28Kn

WH  Cz865110 Spring ITWH DA931225 Insert WH DC5312061 Pin 8Kn Short



Part  Part Part Part Part Part

Type Number Description Type Number Description Type Number Description

WH  DC5313061 Pin 12Kn Short ITWH DC8060097  Elbow #10X5/32 #3109-4-20 ITWH DC9670101  Bracket E-Box To Motor Ze
WH  DC5315061 Pin 28Kn Short ITWH DC8086095 Elbow 1/2 Npt Male 1/8 Tap ITWH DC9677008 1" #6 High-Low Screw

WH  DC5316061 Pin 8Kn Long [TWH DC8091251  Stepped Ke [TWH DC9683021  Locking Nut, 25mm

WH DC5317061 Pin 12Kn TWH DC8096268 5/32 Tubing Blk 18” [TWH  DC9684900EDC Rear Enclosure Assy 1 Phase
WH DC5319061 Pin 28Kn Long TWH DC8097095 Nipple, 1/2 NPT ITWH  DC9686900EDC Front Enclosure Assy

WH  DC5376040 Plunger 3Kn Single Acting ITWH DC8099026 Decal Za4 ITWH  DC9692389  Contactor

WH  DC5386040 Plunger ITWH DC8108038 Adapter El ITWH DC9696646 Hose 17”

WH  DC5387040 Plunger 8Kn Double Acting [TWH DC8122424 Pendant Housing Upper Za ITWH  DC9698900SR Coverplate Assy Ind Service Kit
WH  DC5388040 Plunger 12Kn Double Acting ITWH DC8126095  Fitting Sw [TWH  DC9703900SR Mpe Ind 2P-10K, 202 Single
WH  DC5390040 Plunger, 28kN ITWH DC8127026 Pendant De [TWH  DC9706900SR Mpe Ind 3P-11.6K, 204-1450
[TWH DC5894190 Body Cover ITWH DC8136025SR 8L Reservo [TWH  DC9708900SR Mpe Uni 3P-11.6K, 205-1450
WH DC6038044 Stop Ring18Kn Nitrocarburized [TWH DC8156378  Fuse Transformer Secondary 3.5 Amps [TWH  DC9709900SR Mpe Ind 3P-10K, 202 Single
[TWH DC6189950SR Repair Parts Manifold Kit, VE32 ITWH DC8162960 Cable Asm Pendant/Valve Zg6 ITWH  DC9713900SR Mpe Ind 6P-10K, 202 Single
WH  DC6406040 Plunger, .375 dia ITWH DC8171097 Tee Swivel WH  DC9714900SR MPE, Induction, 6P, 5Kpsi
[TWH  DC6425026 Decal, Valve Ve32D TWH DC8182827 Low Voltage Board, 3-Phase WH  DC9717900SR MPE, Induction, 3P, 5Kpsi
ITWH DC6426010 Stem Valve ITWH DC8183827  High Voltage Board, RoHS [TWH  DC9718900SR Mpe Ind 3P-5K, 202 Single
WH  DC6427040 Plunger .312 Dia ITWH DC8184097  Fitting ITWH  DC9719900SR Mpe Ind 6P

WH DC6436338 Post 3Kn ITWH DC8200380 Circuit Breaker Reset Cap [TWH DC9721980  Overload LRDO7

WH  DC6437338 Post 8Kn ITWH DC8228009 Dome Plug 1/2” [TWH DC9722980  Overload LRDO8

WH  DC6438338 Post 12Kn ITWH DC8276470 Fan Zu4 11 ITWH DC9723980  Overload LRD10

WH DC6439338 Post 19Kn ITWH DC8276470SR Fan Zu4 115V Service Kit [TWH DC9725980  Overload LRD14

WH  DC6440338 Post 28Kn ITWH DC8282379  Push Button, Black [TWH DC9726980  Overload LRD16

WH  DC6446041 U-Cup ITWH DC8284379  Push Button ITWH DC9728980  Overload LRD22

WH DC6447041 U-Cup ITWH DC8312960 Cable Overload To Contactor [TWH DG9729960  Overload Wire Harness

WH DC6619044 Insert 3 Kn Da ITWH DC8366380 Circuit Br [TWH  DC9730960  Power Wire Harness

WH DC6624110 Spring 3Kn [TWH DC8370378 Fuse 62Ma [TWH  DC973101 Plate, Reservoir

[TWH DC6726038 Manifold ITWH DC8371378  Fuse 300Ma [TWH DC9731378  Fuse 0.2A Bbs

WH DC6727950SR Manifold Assy ITWH DC8372378 Littlefuse Holder 2Ag & 3Ag [TWH  DC9732378  Fuse 0.6A BBS

[TWH DC6728160 Retainer ITWH DC8374020 End Cap By ITWH DC9734960 Valve Cord

ITWH DC6738268 Tube Assy [TWH DC8400378 Fuse 40Ma [TWH  DC9734960SR Valve Cord Kit, for ZE/ZW
[TWH  DC6739268 Tube Assy ITWH DC8401372SR Thermostat Repair Kit [TWH  DC9735960  Induction Cord To Motor
[TWH  DC6759840 Connection Block ITWH DC844661SR Check Valve Service Kit ITWH DC9736960 Power Cord, 115V, ZE

[TWH  DC6775660 Spool Valve 115V W/Box ITWH DC8498110 Die Spring Pilot Ve43 [TWH DC9737960 Power Cord Ze 230V Eu
[TWH DC6780950SR 115Vac Spool Valve Sr WH DC878446  Sleeve W, Wsl 221,222 [TWH  DC9738960  Power Cord

[TWH  DC6793245 Ptf-Sae Flush Plug .125 WH DC879040  Plunger, for WFL/WSL-221/222 ITWH DC9739960 Pressure Switch Cable Asm
[TWH  DC6794245 Ptf-Sae Flush Plug .250 WH DC881110  Spring [TWH  DC9740969  Ferrite

[TWH  DC6795245 Ptf-Sae Flush Plug .375 ITWH DC9178118 Intake Filter ITWH DC9801259  Motor 1hp 1-Ph 115/230V
[TWH  DC6845026 Decal Valve ITWH DC9214537  Eccentric Ind Mpe ITWH DC9802259  Motor 1.5hp 1-Ph 115/230V
[TWH DC6868950SR Manifold Vm33L [TWH DC9357900SR Pendant Keypad 3 Button Asm [TWH  DC9804259  Motor 1hp 3-Ph 115/230V
WH  DC6936040SR Air Piston, for AHB Booster ITWH DC9418646 Hose Bypas [TWH  DC9807259  Motor 1.5hp 3-Ph 230/460V
WH DC6966040 Plunger S/A 10Kn Imperial TWH DC9436009 Plug Dome 16Mm TWH DC9808259  Motor 3Ph

WH  DC6973040 Plunger D/ [TWH DC9437009  Plug Dome 20Mm [TWH DC9810259  Motor 3hp 3-Ph 115/230V
WH  DC6975040 Plunger D/A 18Kn Stroke Imperial ITWH DC9451101  Cover Plate, for ZE/ZW ITWH DC9811259  Motor 3Ph 3Hp 575V

WH  DC6980040 Plunger ITWH DC9452424  Electrical Enclosure, Rear, for ZE/ZW [TWH DC9812259  Motor 7.5hp 3-Ph 230/460V
WH DC6987040 Plunger D/A 8800 Lbs Imperial ITWH DC9453424  Electrical Enclosure, Front, for ZE/ZW [TWH DC9813259  Motor 3Ph 7.5Hp 575V

WH  DC6989040 Plunger D/A 8800 Lbs Imperial [TWH DC9460268 Roll Bar S ITWH DC9880101  Bracket -

ITWH  DC7124268 Pressure Tube Assy TWH DC9461268 Rollbar Sp [TWH DC9892960  Wire Harness PB to SSR
[TWH DC7295950SR  Manifold S [TWH DC9467070 Handle 4 & 8 Liter [TWH  DC9893960  Cable Th60

[TWH  DC7352038 Manifold DO3 To Enerpac WH  DC94840 Manifold [TWH  DC9899960  Motor Cord

[TWH  DC7362037 Manifold Gasket, Foam ITWH  DC9508960SR  Pendant Cable Asm ITWH DC9917960 Ze 3 Phase Power Cable
[TWH  DC7400950SR Manual Val ITWH DC9524268 Intake Tube [TWH DC9918960  Cable Assy

[TWH  DC7838028 1/4 X 3/8” Ph Pan HD Hi Lo ITWH DC9533380 Circuit Breaker 8 amp ITWH DC9919980 SSR RM1A23D75 1-Ph

[TWH DC7851028 Screw, Hi-Lo #10, 16-3/4 ITWH DC9535380  Circuit Breaker 16 amp ITWH DC9920026 Decal, Read Manual

[TWH DC7910900SR  Submerged Pump Reservoir Assy ITWH DC9537021  Locking Nu [TWH  DC9936076  Seal Electrical Enclosure
[TWH DC7911960SR Repair Kit ITWH DC9538021 Locking Nut 20Mm ITWH DC9949960  Contractor

ITWH DC7912960SR Cable Sole ITWH DC9600268 Tube Intake ITWH DC9951405 Velcro, 2”

[TWH DC7953900SR Pendant Assy Repair Kit [TWH DC9601268 Tube Intake, 10L, 2” WH  DC9954026 Decal Zw Class

[TWH DC7954960SR Repair Kit ITWH DC9602268 Tube Intake WH  DC9955268  Pipe Fill

[TWH DC7969960SR  Wire Assem ITWH DC9603268 Tube Intake WH  DC9956038 Adapter Sae#10 M To 3/4 Npt F
[TWH DC8033118 FIr Norgren [TWH  DC9606960SR Cable Asm 20’ WH  DC996040 Plunger Wfl,Wsl 441,442
ITWH  DC8035038 Adapter Hx WH DC96110 Spring, Compression [TWH  DC9970025SR 10L Reservoir Kit

ITWH  DC8036038 Elbow 5/8 ITWH DC9618920 Roll Bar 1 ITWH  DC9971025SR  20L Reservoir Kit

TWH DC8038299 Hose Clamp Crimp on 5/8” Hose [TWH DC9642097 Intake Elbow Gear Pump [TWH  DC9972025SR  40L Reservoir Kit

[TWH  DC8039471 Heat Exchanger TWH DC9645268 Insulation Tube WH  DC998446 Sleeve

[TWH  DC8042111 Bracket Za ITWH DC9646960 Cbl Asm Fo ITWH DC9988028 M8.0 X 50

[TWH DC8043646 Hose 5/8 ITMWH  DC9649900SR Software Service Kit [TWH  DC9990960  Motor Cord Assy, 1P

ITWH  DC8046646 Hose 5/8 ITWH DC9658259 Motor 1hp 1-Ph 115/230V WH  DC999110  Spring

[TWH  DC8056070 Handle Za ITWH DC9659259 Motor 1.5hp 1-Ph 115/230V ITWH DC9991424  Lower Pendant Za4T

[TWH  DC8059379 Push Button ITWH DC9663920 Tubing Assy [TWH  DD1048900SR Repair Kit



Part Part Part Part Part  Part
Type Number Description Type Number Description Type  Number Description
ITWH DD1119900SR Repair Kit ITWH ~ F100094-4 Male Elbow WH  MMR5K1 Kit, 1/2 Ton
ITWH DD1121900SR Top Plate WH  F100094-47 Connector WH  MMW141K Repair Kit
[TWH DD1122900SR Top Plate WH  F100094-48 Connector WH  MMWw221K Cylinder Kit
[TWH DD1164900  Molded Solenoid Cable Asm S WH  F100094-83 Male Elbow WH  MPA6042K Repair Kit
ITWH DD1190950SR Pilot Piston Assy w/ Viton ITWH  F100095-5 Fitting WH  MPA62K Repair Kit
[TWH DD1224900SR  Shroud Asm Submerged Manual 230V TWH  F100095-7 .25 Street Elbow WH  MPFC110KV Repair Kit-Viton
[TWH DD1227900SR 115V Dump ITWH  F100096-38 Adaptor, SAE#8 to 3/8” NPT WH  MPFC210KV Repair Kit-Viton
ITWH DD1228900SR 230V Dump ITWH  F100097-16 Hose Barb WH  MPFL100KV Repair Kit-Viton
[TWH DD1301900SR Shroud Asm ITWH  F100118-20 Breather V WH  MPFL300KV Viton Seal Kit
ITWH DD1319900SR  2-Piston Steel Top Plate/Eccentric Assy WH  F107028-1 Valve Mounting Kit WH  MPFL50KV Repair Kit-Viton
ITWH DD1320900SR  3-Piston Steel Top Plate/Eccentric Assy WH F107028-10 Valve Mounting Kit WH  MPFS100KV Repair Kit-Viton
[TWH DD1321900SR Piston WH F184040 Plunger WH  MPFS200KV Repair Kit-Viton
ITWH DD1347268  Tube Assy ITWH  F75021 Locknut #6 WH  MPFS450K Seal Kit
[TWH DD1367223SR 5” Sight Glass ITWH  FC38381800 Flow Control Valve WH  MPFS450KV Repair Kit Viton
TWH DD1444024 Vent Cap WH  FL2101K Kit, 10 MC Filter WH  MPTL300E010K Repair Kit
ITWH DD1446223  Sight Glass 3/8 Npt WH  FL2101KV Kit, 10 Mc Filter, Viton WH  MRS1001K Repair Kit
ITWH DD1449051SR Hawe Piston Block 14mm Svc Kit WH  FL2201K Kit, 20 MC Filter WH  MRS1K Repair Kit
[TWH DD1450051SR Hawe Piston Block 6mm Svc Kit G WH  MRS2001K Repair Kit
ITWH DD1491900SR Svc Only Mpe Ind 2P-5K, 202-1450 TWH 6668026 Holl-0-Cy! WH  MRS2K Repair Kit
[TWH DD1492900SR Piston Ring Assy 2P Zw3 Svc Kit H WH  MRS3001K Repair Kit
[TWH DD1505900SR Mpe Ind 2P-11.6K 205-725 WH  HCS110K Repair Kit WH  MRS5K Repair Kit
[TWH DD1506900SR Mpe Ind 3P-11.6K 207-725 WH  HCS20K1 Repair Kit WH  MRT21K Repair Kit
[TWH DD1507900SR Mpe Ind 6P-11.6K 210-725 WH  HCS50E001K-1  Repair Kit WH  MRT41K Repair Kit
[TWH DD1543160  Socket Head Screw WH  HCS50K Repair Kit WH  MS102K MS Cylinder Kit
ITWH DD1651026  Decal Safety Elec Shock Pwr Cord WH  HCS80K Repair Kit WH  MS102K1 MS Cylinder Kit
ITWH DD1725070K Repair Kit WH  HPIK Repair Kit WH  MS10KV1 Ms CyIndr Kit Revised
[TWH DD2067480  Transformer Sealed Class li WH  HRC32AK Repair Kit WH  MS182K MS Cylinder Kit
[TWH DD2666900SR Motor & Elect Assy Kit (115V 60Hz) WH  HRC36BK Repair Kit WH  MS182K1 MS Cylinder Kit
WH DD3114310  Torsion Spring WH  HV1000AK Repair Kit WH  MS21K MS Cylinder Kit
[TWH DD4666270  Receptacle 30A Female L WH  MS21K1 Repair Kit
TWH DD4667270  Handle 30A WH  L298044 Wiper WH  MS3K Ms CyIndr Kit-Us
ITWH DD4769667  Round Ring WH  LD73K Repair Kit 3.5Kn D/A WH  MS3K1 MS Cylinder Kit
[TWH DD5090118  Replacement Filter Element WH  LD77K Repair Kit 7Kn D/A WH  MS4K MS Cylinder Kit
[TWH DD5207268  High Pressure Tube WH  LDD12K Seal Kit, 12kN, D/A WH  MS4K1 Ms CyIndr Kit Revised
ITWH DD5453600SR Gear Carrier, 1St Stage, WH  LDD19K 19Kn Seal Kit D/A WH  MV727K Check Valve Kit
[TWH DD5472600SR Rotor For Air Motor WH  LDD28K 28Kn Seal Kit D/A WH  MV72K Check Valve Kit
[TWH DD6094380K Xc Relay Service Kit WH  LDD3K Seal Kit, 3kN, D/A WH  MV72KV Check Valve P/0
WH DL2436K Repair Kit WH  LDD8K Seal Kit, 8kN, D/A WH  MVPM5K1 Repair Kit
WH DQ284110 Spring WH  LDS12K 12Kn Seal WH  MWR10K1 Repair Kit
WH DQ303110 Spring WH  LDS3K Seal Kit, 3kN, S/A N
WH DQ304044 Stop Ring WH  LDS8K Seal Kit, 8kN, S/A WH  NR250K Kit
WH DQ308110 Spring M WH  NRR350K Kit
WH  DQ440372 Proximity Switch WH  M243044 Stop Ring P
WH  DQ869040 Plunger 9Kn D/A WH  M459041 0-Ring WH  PA1006221 High Press Pump
WH DQ882149 Index-Rod 9Kn (L) TWH  M642028 Screw WH  PA1065040 Plunger
WH DQ883149 Index-Rod 9Kn (R) WH  M668040 Plunger WH  PA1075048 Adjustment Screw
[TWH DS1309052  Cord Electrical 18-3 Svt 15’ WH M669044 Stop Ring WH  PA1076048 Adjustment Screw
WH DW1003840 Po Check Housing WH  Mé672110 Spring, Ext WH  PA1103950SR Vent Plug Assy
WH DW1003840SR Po Check Housing, Service WH M672110SR Repair Kit WH  PA1104041 U-Cup
WH DW1006661 Po Check, Hawe WH  M673028 Cap Screw WH  PA1105041 U-Cup, Rod
WH DW1038041  U-Cup 25Mm 9Kn Swing Cyl WH  M674028 Cap Screw WH  PA1108110 Spring, Compression
WH DW1040041 U-Cup WH M706040 Plunger WH  PA1109110 Spring, Compression
WH DW1061041  U-Cup Seal WH  M707044 Stop Ring WH  PA1110041 U Cup-Viton
WH DW1063816SR Accumulator Charge Adapter WH  M708040 Plunger WH  PA1111041 U-Cup, Viton
WH DW1461101 End Plate WH  M771044 Wiper Ring WH  PA1112049 Retaining Ring

E WH M867028 Screw WH  PA1119040 Plunger
ITWH E1001181 Fem Push-0 WH  M883281 Thrust Bearing WH  PA1133776 Wiper
[TWH  E1500000 Switch WH M885281 Bearing WH  PA1140041 U-Cup, Piston
ITWH E1500001 Rocker Switch WH  M893110 Spring WH  PA1141041 U-Cup, Piston
ITWH E1500003 Switch WH  MA3070 Clamp Arm WH  PA1145041 U-Cup, Piston, Viton
[TWH  E1900009 PC Board Assy WH  MC375K Repair Kit WH  PA1149041 U-Cup, Rod
WH ECH202K Repair Kit, 20 kN ECH WH  MCA6042K Repair Kit WH  PA1153041 U-Cup, Rod, Viton
WH ECH52K Repair Kit, 5 kN ECH WH  MCA62K Repair Kit WH  PA1155049 Retaining Ring

F WH MCA64K Repair Kit WH  PA1156049 Retaining Ring
WH F100016-2  Steel Ball WH  MCRCK Seal Kit WH  PA1157049 Retaining Ring
WH F100016-4  Steel Ball WH  MHVIK Repair Kit WH  PA1200108 Washer
WH F100016-5  Ball WH  MMR10K1 Repair Kit WH  PA1201108 Washer
ITWH F100016-6  Ball, 6mm WH  MMR30K Swing Clamp Kit WH  PA1203118 Filter
[TWH F100094-13  Cap WH  MMR5K Service Kits WH  PA1227950SR Vent Plug Assy



Part  Part Part  Part Part Part

Type Number Description Type Number Description Type Number Description
WH PA1232110 Spring WH  PA2079446  Sleeve, WFL331/WSL331 WH PA708051  Piston

WH PA1233040 Plunger WH  PA2096037  Gasket WH PA709051  Piston

WH PA1234040 Plunger WH  PA2112040  Plunger, 9 kN WH PA710051  Piston

WH PA1237005SR  Base Asm WH  PA2114040  Plunger, 9 kN WH PA712013  Spring Guide
WH PA1238005SR  Repair Kit WH  PA2115040  Plunger, 9 kN WH PA723749  Retaining Ring
WH PA1241005 Upper Flange Base WH  PA21155 Slyd Ring WH PA725020 Cap

WH PA1251044 Stop Ring WH  PA2124040  Plunger, 2 kN WH PA78020 Cartridge Cover Kit (Sun)
WH PA1252044 Stop Ring WH  PA2131040  Plunger, 4 kN WH PA916190  Valve Block

WH PA1254515 Gt Ring-Viton WH  PA2132040  Plunger, 4 kN WH PA952661  Check Valve-(On P, Do3,5000)
WH PA1267950SR  Vent Plug Assy WH  PA2133040  Plunger 4Kn [TWH PAMG3400K Complete Kit
WH PA1268950SR  Vent Plug Assy WH  PA2138040  Plunger, 3 kN WH PAMG5400K Complete Kit
WH PA1286167 Copper Gasket WH  PA2140040 Plunger 18Kn Imperial ITWH PAT1053K1 Repair Kit

WH PA129660 Schrader Valve WH  PA2141040  Plunger 18 Kn Imperial WH PATG3100K Complete Kit
WH PA1303167 Gasket WH  PA2142040  Plunger 18Kn Metric WH  PLV40013BK Repair Kit

WH PA137013 Spring Guide WH  PA2143040 Plunger 18Kn Metric Q
WH PA138013 Ball Guide WH  PA2147040  Plunger 10 Kn WH QMH120K  Repair Kit

WH PA1386051 Piston, Double Acting WH  PA2198076  Slipper Seal (Viton) WH QMH120VK Repair Kit, Viton
WH PA1388566 Ring WH  PA2204040  Plunger, 40 kN R
WH PA139290 Seat WH  PA2205040  Plunger, 40 kN WH RA1061K Repair Kit

WH PA140051 Piston WH  PA2206040  Plunger, 5kN [TWH RC102K Seal Kit

WH PA1404110 Spring, Compression WH  PA2211044  Stop Ring, 18kN Block D/A ITWH RC151K Repair Kit

WH PA1405110 Spring, Compression WH  PA22118 Screen [TWH RC53K Kit

WH PA1406110 Spring, Compression WH  PA2212044  Stop Ring [TWH RC53K1 Repair Kit

WH PA1407110 Spring, Compression WH  PA2213044  Stop Ring ITWH RC53KV Repair Kit, Viton
TWH  PA1417027 Set Screw WH  PA2214044  Stop Ring, 180kN Block D/A [TWH RCH121K1  Repair Kit

WH PA1529044 Stop Ring WH  PA2215044  Stop Ring, TWH RCH202K  Kit

WH PA1530044 Stop Ring WH  PA23076 Glyd Ring WH RCV1K Repair Kit

WH PA1531044 Stop Ring WH  PA24549 Retaining Ring [TWH RD143K3 Repair Kit

WH PA1545028 Soc. Hd Ca WH  PA2524101 Protection Plate [TWH RD1610K2  Kit

WH PA155840 Manifold WH  PA2573298SR 5Kn Contaminant Shield ITWH RD1610KV  Repair Kit

WH PA16028 Socket Head Cap Screw WH  PA2575900  Pin/Housing Assy [TWH RD173K3 Repair Kit

WH PA165010 Valve Stem WH  PA2610110  Spring,Edge ITWH RD186K1 Kit

WH PA1768041 Wiper, 9 kN, Nitrile WH  PA26145 Clamp Bar [TWH RD186K2 Kit

WH PA1769044 Stop Ring, 9 kN WH  PA2618037  Elastomer [TWH RD186K3 Repair Kit

WH PA1770110 9Kn Spring, .28 Stroke WH  PA2619037  Elastomer Spring [TWH RD196K1 Kit

WH PA1771110 9Kn Spring, .51 Stroke WH  PA2620037  Elastomer ITWH RD196K2 Kit

WH PA1772110 Spring, 9 kN WH  PA2633059  Dowel Pin [TWH RD196K3 Repair Kit

WH PA1773110 9Kn Spring WH  PA2634059  Dowel Pin [TWH RD2510K2  Kit, 25 Ton

WH PA1802041 U Cup WH  PA2635059  Dowel Pin ITWH RD2510KV  Repair Kit, Viton
WH PA1815040 Plunger, 12 kN WH  PA2636059  Dowel Pin [TWH RD46K2 Kit

WH PA1817040 5Kn Plunger-Imperial WH  PA2638039SR Service Assy [TWH RD46KV Repair Kit, Viton
WH PA1820108 Washer WH  PA2649110  Spring [TWH RD910K2 Repair Kit

WH PA1821108 Washer WH  PA2650446  Sleeve [TWH RD910KV Repair Kit, Viton
WH PA1823108 Washer WH  PA2652149  Retaining Ring WH RW11K Kit

WH PA1828203 Viton 0-Ring (Ls20V) WH  PA2655034  Obturater WH RW11K3 Repair Kit

WH PA1833503 0-Ring, Nitrile WH  PA2662010  Fulcrum Spindle WH RWIK Repair Kit

WH PA1844006 1/8” BSPP Plug WH  PA2702040  Plunger WH RWiK1 Kit

WH PA1845006 1/4” BSPP Plug WH  PA2703040  Plunger WH RWi1K4 Repair Kit

WH PA1877092 Connector WH  PA2705040 Plunger WH RW1KV Repair Kit, Viton
WH PA1878005 Base 10Kn PA2706040 Plunger WH RWB30KVS Repair Kit, Viton
WH PA1893190SR  Manifold Kit WH  PA2708040  Plunger WH RW33K Kit

WH PA1894290 Seat WH  PA2711040  Plunger WH RW3K1 Kit

WH PA1896038 Adaptor, M17 X 1,0 WH  PA2712040  Plunger WH RW41K1 Repair Kit

WH PA1897046 Bolt, M5X0 WH  PA2714040  Plunger [TWH RWB5K50 Rc50/Rw50/Mrw50 Standard Repair Kit
WH PA1899101 Plate WH  PA2715040  Plunger WH RWH121K1 Repair Kit

WH PA1900149 Retaining Ring WH  PA2718040 Plunger WH RWH20K Repair Kit

WH PA1901108 Washer WH  PA2719044  Stop Ring WH RWH20KV  Repair Kit, Viton
WH PA1903186 Ring [TWH  PA2738038  Adapter Enerpac To Do3 WH RWH302KV Repair Kit, Viton
WH PA1904108 Washer, Nylon WH  PA2788661 Valve, Po Cartridge WH RWP101K  Kit

WH PA1905416 Valve Stem WH  PA2789840  Valve Body Cartridge WH RWP31K Kit

WH PA1906070 Handle WH  PA2800044  Stop Ring 9Kn WH RWP31K1  Kit

WH PA1911149 Retaining Ring WH  PA2803044  Stop Ring 40Kn WH RWP31K3  Repair Kit

WH PA1960046 Screw, M5 X 0,8 WH  PA2808044  Stop Ring, 40 Kn WH RWT15K Kit

WH PA1961167 Gasket, Copper WH  PA29021 Ball Nut WH RWT39K1  Repair Kit

WH PA1979070 Handle WH  PA3076 Step Seal WH RWT39KV  Repair Kit, Viton
WH PA1996513 T-Seal, 2 kN Swing WH  PA38950SR  Index Assy Replacement Kit WH RWT88K1 Repair Kit

WH PA2043044 Stop Ring WH  PA39950SR  Plunger Assy Replacement Kit WH RWT88KV  Repair Kit

WH PA2049900 Relief Valve Asm WH  PA523663 Relief Valve

WH PA2052149 Guide Rod WH  PA633040 Piston



Part Part Part Part Part Part
Type Number Description Type Number Description Type Number Description

S WH  TS9KV 9Kn Push Cyl - Viton WH WPFL300K Repair Kit
WH SC1K Repair Kit u WH WPFL50K Repair Kit
WH SC3K Repair Kit WH U032047040 Plunger 20Kn Long WH WPFS100K Repair Kit
WH  SC4K Repair Kit ITWH  U042336690  Connector WH WPFS200K Repair Kit
WH SCD122K Repair Kit WH  U072464040  Plunger WH WPTL100K Repair Kit
WH  SCD122KV 12 Kn. Repair Kit D/A Viton ITWH  U112266372  Pressure Switch 10000Psi WH WPTL300K Repair Kit
WH SCD22K 2 Kn. Repair Kit D/A [TWH  U113167784  Timer 30 Sec Pckt Shr WH WRP42K Repair Kit
WH SCD22KV 2 Kn. Repair Kit D/A Viton WH  U962081K Swing Clamp Kit WH WRS100K Repair Kit
WH SCD52K  Repair Kit, 5kN, D/A ITWH  U972038026-2 Breather Vent Decal WH WRS200K Repair Kit
WH  SCD52KV 5 Kn. Repair Kit D/A Viton Vv WH WRS2K Repair Kit
WH SCS122K 12 Kn. Repair Kit S/A TWH V161K Repair Kit WH WRS300K Repair Kit
WH  SCS122KV 12 Kn. Repair Kit S/A Viton WH  V2000K Repair Kit WH WRS500K Repair Kit
WH SCS22K 2 Kn. Repair Kit S/A WH  V2000K1 Repair Kit WH WRT2122K Repair Kit
WH  SCS22KV 2 Kn. Repair Kit S/A Viton TWH V44K Repair Kit WH WRT4142K Repair Kit
WH SCS52K  Repair Kit WH V72K Service Kit WH WSC112K Service Kit
WH  SCS52KV 5 Kn. Repair Kit S/A Viton WH V72KV Repair Kit, Viton WH WSC222K Repair Kit
WH SD11K Repair Kit ITWH  VCALKV Viton Kit WH WSC72K Repair Kit
WH SD121K  Repair Kit ITWH  VE43K1 Repair Kit, for VE43 WH WSL111K Service Kit
WH SD121KV  Repair Kit, Viton WH  VEW43K Kit Repair WH WSL111KV Service Kit, Viton
WH SD202K  Repair Kit TWH  VM22K Repair Kit, for VM22 WH WSL221K Service Kit
WH SD202KV  Repair Kit, Viton TWH ~ VM2K1 Repair Kit WH WSL221KV Service Kit, Viton
WH  SD202PK Repair Kit TWH ~ VM2K1E Repair Kit, EPR WH WSL331K Service Kit
WH SD21K Repair Kit TWH  VM3K Kit WH WSL331KV Service Kit, Viton
WH SD21KV  Repair Kit, Viton ITWH  VM4K Kit WH WSL441K Service Kit
WH SD352K Repair Kit TWH  VM4K3 Repair Kit WH WSL441KV Service Kit, Viton
WH  SD352KV  Repair Kit ITMWH  VM4KE Repair Kit WH WSM72K Service Kit
WH SD51K Repair Kit WH VMD1K Kit, Manual Valve WH WSM72KV Service Kit, Viton
WH SD51KV  Repair Kit, Viton WH  VP115SR 115 VAC Solenoid WH WST71K Service Kit
WH SD72K Repair Kit 2Kn D/A WH VP1K Face Seal Kit WH WST71KV Service Kit, Viton
WH  SD92K Repair Kit WH  VP1SR Connector, DIN WH WTR24K Repair Kit
WH SD92KV  Repair Kit WH  VP24SR 24VDC Solenoid WH WVP1K Repair Kit
WH SDT26K  Repair Kit WH  VP2SR Connector, DIN Y
WH SP621K  Repair Kit WH  VR4K Kit ITWH Y126290 Seat
WH SS121K  Repair Kit WH  VS1422K Repair Kit [TWH Y383900SR Locking Valve Assy
WH SS121KV  Repair Kit, Viton W ITWH Y741041 U-Cup
WH SS202K  Repair Kit WH  WA500K1 Repair Kit V4
WH SS202KV  Repair Kit, Viton WH  WA500KV1 Repair Kit, Viton WH ZAJ06505K Repair Kit
WH SS21K Repair Kit WH  WDC20K1 Repair Kit ITWH ZE3K Seal Kit
WH SS21KV  Repair Kit, Viton WH  WDC40K Repair Kit ITWH ZEDK Decal Kit
WH SS352K  Repair Kit WH  WDC40K1 Repair Kit
WH SS352KV  Repair Kit WH  WDC75K Repair Kit
WH 8§S51K Repair Kit WH  WDC75K1 Repair Kit
WH SS51KV  Repair Kit, Viton [TWH  WES5000SR Unloading
WH  $S892K Repair Kit WH  WEC15K Repair Kit
WH S8S92KV  Repair Kit WH  WEC30K1 Kit

T WH  WEN1540K Seal Kit, Universal
WH TD40KV  Repair Kit WH  WFC112K Service Kit
WH TR15RK  Repair Kit, 1.5” Bore Tie Rod Cyl WH  WFC112KV Service Kit Viton
WH TR15SK  Seal Kit, 1.5” Bore Tie Rod Cyl WH  WFC222K Service Kit
WH TR20RK Repair Kit, 2.0” Bore Tie Rod Cyl WH WFC72K Service Kit
WH TR20SK Seal Kit, 2.0” Bore Tie Rod Cyl WH WFL111K Service Kit
WH TR25RK  Repair Kit, 2.5” Bore Tie Rod Cyl WH  WFL111KV Service Kit, Viton
WH TR25SK Seal Kit, 2.5” Bore Tie Rod Cyl WH WFL221K Service Kit
WH TR32RK  Repair Kit, 3.25” Bore Tie Rod Cyl WH  WFL221KV Service Kit, Viton
WH  TR32SK Seal Kit, 3.25” Bore Tie Rod Cyl WH WFL331K Service Kit
WH TR40RK  Repair Kit, 4.0” Bore Tie Rod Cyl WH  WFL331KV Service Kit, Viton
WH TR40SK Seal Kit, 4.0” Bore Tie Rod Cyl WH WFL441K Service Kit
WH TS10KV  Kit WH  WFL441KV Service Kit, Viton
WH TS10KV1 TS Cylinder Kit, Viton WH WFM72K Service Kit
WH TS18KV  Repair Kit WH  WFM72KV Service Kit
WH TS18KV1  Ts Cylndr WH  WFT71K Service Kit
WH  TS25K TS Cylinder Kit WH  WFT71KV Service Kit, Viton
WH TS25KV2 TS Cylinder Kit, Viton WH  WMT39K Repair Kit
WH  TS2KV1 TS Cylinder Kit, Viton WH  WMT88K Repair Kit
WH TS3K TS Cylinder Kit WH  WP10K Repair Kit
WH TS3Ki1 TS Cylinder Kit WH  WPFC210K Repair Kit
WH  TS40K TS Cylinder Kit WH  WPFC410K Repair Kit
WH  TS40KV1 TS Cylinder Kit, Viton WH  WPFL100K Repair Kit
WH TS4K TS Cylinder Kit WH  WPFL100VE100K Repair Kit





